CODECHEF November Challenge 2017

POLY: %Izt
o B H5Ak

Y55E n M yi(2) = ag + a12 + asx® + azx® HIRELL K g MR . RS 25 E B8 ¢, IR
T ESR HAHAS vi(1) B/ MBS y; o

AR

MNP —ATEE AR T, RENEIR M. BTk T HEE.

HHERPE —ATET N8 n, X2 BT R, BITES UL
ag, ai,as,as, AR Z I R

PR R—1T, OE— DS g FETR 1T, BITES—B RERN.

A%
MFRN R, S AT, BE R, RRRBERADN Ry %S

BIESCEAMTES
e 1<T <10 e 0<a3<10?
. 1§n,q§105 . Ogao,al,a2§105
e 0<t<10° o FHHBUER n,q ZA1535 < 3-10°
FES 1 Q05 FEEK 2 (205) - FEE3 (109 :
e n,q <103 e ag=a3 =10 o JUPH BRI
FEGIE AR
TP Tt
1 7
5 47
10 5 4 8 127
2050 22
1802
8 7 8 7
7081
4
1
3
5
2



